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1.3f¢ & @A ga S g O 3R O’ €, f§ig A 31k D R Toh-g@t &1 glaesied & €, 00" = 12
AT R AD = 16 G § o g &1 Brsar = g

A. 15 g.#

B. 10 &4

C. 14 g

D. 12 §.#
Ans. B

Since the both circle have equal radius-

P=P0 =2=6
Hence, 2

AP =PD == -8
=PD ==
1n AAPO"

0'A*> =8%2+6% =100
O'A = 10.

2.7 HEI3H 1 UEHA 6760 § AR 3ofhr TaHLUG 13 B o HEA3h & 0 fhaed gA Fa
ST Thd 87

A.2

B. 3

C. 1

D. 4

Ans. A

Sol.

13y

Let the number be 13x and = respectively.

169xy = 6760

xy =40

Total combinations (8,5),(10,4),(40,1),(20,2)
But we can take [8,5),[4[},1)

So only 2 pairs are possible.

only.

3.12 ST Ul & Teh & 1 8RT AT § I Tcddh dTed) T TSl AT 13.5 e g &1 A=

EF P IR & AT fhdsl STecT Uit i 3TaThdr gel, I Ycdeh STecl T &HdT 9 ofex §?
A. 15
B. 16
C. 18
D. 17
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Ans. C

Sol.

Capacity of 1 bucket = 13.5 litre
Capacity of 12 bucket = 12 x 13.5
Total Capacity = 162

Required,

Total capacity 162
Volume of 1 Bucket 9
=18 Bucket.

4.Tdh g HUA AT T I Hel afd & 9/5 UM 9Ta §| $HF GaNT dF HHT AT ¥ 30
fAiee uger 3= fegrery Uge Siam &1 3MAAN X 38 fhcall THI STl &7

A. 67.75 faeTe

B. 67.50 fA=c

C. 67.25 faee

D. 67.10 fAse

Ans. B
Sol.

Let the original speed be — $1

Increased speed be — 52

A.T.Q.

9
SQ=EX51

$ 5

s, 9
We know

1
50—

Hence,
t; 9

t, 5
t,—t,=9—5=4unit
4unit = 30min

1 unit = 7.5 min

Required original time
=9 x 7.5 = 67.5 minute.

5.26 FEAT3T & JHET YT Bl 37 @ fohaat & @ 3HTeh T & 34 g7 Hevel 872
A. 25

B. 20

C.0

D. 15

Ans. A

Sol.

Since the average of 26 number = 0

Let the first 25 number be 1 and last humber = x
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Total sum

Ava =
vy Total terms
1+1+1+ —— —25times+ x

26

25+ x
26
x=—25

Hence, we can take only 25 numbers which is greater than 0.

6.0 fafIse gea g U av d-wiw N3l & x d&ar & aAregwr § di=r o @har §, d x gler
EURY

A. 2

B.3

C. 4

D.1

Ans. B

Sol.

To draw a unique circle, we always need minimum 3 non-colinear points.
\~ ’/
A B

Perpendicular bisectors of AC & BC meets at O, which is the centre of Circle.
7.(cosec A - sin A)?2 + (secA - cosA)? - (cotA - tanA)2fFEs SR &l

A 2
B.0
C. 1
D. -1

Ans. C
Sol.

cosec’A+ sin? A — 2cosecA sind +sec? A + cos? A — 2cosAsec A — cot? 4
—tan®A4 +2cotdtan4

=sin? A + cos?A4 + cosec®4 —cot?A +sec’4A—tan*4A—-2-2+2

—1+1+1—4+2

- 1.

8.2 &3 &7 TA.TL.UH 168 & 3R 3o . dl.ud 12 §1 Ife TEamsit &1 3ia) 60 §, ar geansit

FT T ATT FL?
A. 112

B. 164

C. 108

D. 122

Ans. C

Sol.
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12y

Let the number be 12x and —“- respectively.
LCMXHCF.=12x x 12y

168 x 12 =12 X 12xy

xy=14...(i)

Given

12x — 12y = 60

x—y=5

y=x-—5

We put the value of y in equation (i).
¥(x —5) =14

x?—5x—14=0
x2—7x+2x—14=0
¥(x—7)+2(x—7)=0
(x—7)x+2)=0
x=-2,7

We take the positive value of x whichis 7, soy = 2
Required

no.12 x 7 = 84
=12x2 =24

Hence, the sum of no

=84+ 24 =108

9.Uw T &I IR wars 16 .7 3R =isg 14 F.aA & 3 &1 aRTY & s &1 T 3refga &
aRfer 3 Y TSIEehT oare et v 97eT & e g

A. 31.57 €&

B. 21.57 §.#

C. 38.57 &.#r

D. 25.57 §.&

Ans. C

Sol.

Let the side of square be = a
l=16cm

b= 14cm

Length of perimeter

Breadth of perimeter
A.T.Q.

4a = 2(1+ b)

4a = 2(30) = 60
a=15

Let the diameter of semicircle be d,
Which is equal to the side of square.
d=a=15

Radius of semicircle

r=—=7.5cm
2

Circumference of Semicircle


http://www.gradeup.com/

$

www.gradeup.co gradeup

= (nr +2r)
22 7.5+15
=—xT7.

7

165

=—+15
7

=23.57+15
= 38.57.

10.930% Us °¢ & d1g HR & afd 2 FAveer 96 areh g1 afg gger v 9¢ 7 a7 fr s gt 35
o oY, ar 12 5¢ & a7 &1 718 For g fohcelr o

A. 560 ..

B. 650 .7,

C. 558 far..

D. 552 far.#T.

Ans. D

Sol.

A.T.Q.

Distance travelled in 15t hour = 35
Distance travelled in 2" hour = 37
So, distance travelled in 12 hours-

5,=35+37+39+ — —— —12terms
n

S, = E[Ea + (n—1)d]

a=35d=2n=12

Here
12

Sis :?[?DJ’ 11 x 2]

=6 x92 = 552Km.

11,7197 el # 68% 9l 3R W #Ad & 20% Ul g g1 @ 100 Fhelams drsl el & et

@ AT 9o f6Ar ST Fehd 872

A. 80

B. 60

C. 40

D. 20

Ans. C

Sol.

The quantity of pulp will be same in both cases.
The quantity of pulp in 100 kg of fresh fruit

= (100 — 68)% = 32% of 100
=32Kg

Quantity of pulp in dry fruit which is
(100 — 20) = 80%

80% = 32 kg

Hence, quantity of dry fruits

100% 52 100
= = — X

° 7 80
=40Kg.
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123 x2 —4x + a = 0 & AA TR §, ar a=
A. —4

B. 4
C.8
D. —8

Ans. B
Sol.

x*—4x+a=0

Let the roots of equation be a and B.

Since @ = B (given)
Sum of roots,

b
at+f=——=4

a
=2xa=4
= =2
Product of Rootsc,
a.ﬁza.aza
a’=a
a=4.

13.Th HeT & 16 oISt o1 AT gold 60.25 fFeemd § 3 A9 10 TS &7 gofad 45.75

fraitamer g1 et & Feft oISl 1 drad asie ard |
A. 56.27

B. 55.37

C. 54.67

D. 53.76

Ans. C

Sol.

Sum of weight of 16 boys = 16 x 60.25 = 964
Sum of Remaining 10 boys = 45.75 x 10 = 457.5
Total weight of 26 boys = 964 + 457.5

= 1421.5

Required Average
1421.5 ey

_ 26 — - 0

14.Teh FHGASTE T AT JaT 2 HH: & TAT ot & v Wi 1w 7eq foig oiead &1 et
T & AT |

A. 2 4.H?

B. 3 4.#2

C. 5 #@.#2

D. 1 §.#rP

Ans. B

Sol.

Let the isosceles triangle be ABC, where AB = AC and BC = 2cm.
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We know that the length of medians in isosceles triangle drawn to equal side are equal.
BED =CE

medians cut each other in the ratioof 2 : 1
So,

BG = GC

Let BG=GC =Yy

1 ABGC, £BGC = 90°
BG? + GC? = BC*
2y? =4

y=v2

We know that medians cut each other in the ratioof 2 : 1 = BG : GD
BG=y =12

2 unit =2

(Pythagoras theorem)

1 unit =

-
~lls

GD =
= NG

“AB = AC 4 8D and CE are medians.
So, AE = BE,AB =BC =x

1y AGDC, 2£CGD = 90°
GD?* + GC* =CD?

1 24_(},_2_ 5
() +02) =
E-|—2—;IL2
2

5
-
2x=j—; 2 =410

AB = AC = 2x =410
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J10 5
h
B o 13 £

The length of AO be = h
1, AAOC, £40C = 90°

AO0* + 0C?* = AC?
Or

h?+1=10

h=3

Required Area of AABC

1
=E><AG><BC

1
=Ex3><2=3cm2.

15.78 a&] & 3ifhd Hed W HAF & T, IAF X% & & 916 T P T 259.20 § | AT avg

&I 3ifehcd HeA X 720 &, AT X & Al T Gram?

A. 25
B. 24
C. 18
D. 20
Ans. D
Sol.
Two successive discount equivalents to
y2
X X +21UU

2% 4+ —
=T T00

Total rate of discount

259.20 R
N =0 X990
= 36%

Now,
y2

—2x +—=-36
* T 7100
x%2 —200x +3600= 0

x?—180x — 20x + 3600 =0
(x —180)(x—20) =0

x = 20 or 180

= x = 209%

16.0 Fg arel T g T 35T 10 cm §, PQ AT PR 9% 12 cm &1 Sfiar? g | PO, QR Sirar &t
fSig S W @l & | OS T ofars Far §?
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Let OS = x, then

OR? —05? = PR? — PS§*

102 —x? =122 — (10— x)?
100 — x? = 144 — 100 — x? + 20x

20x = 56
x=28cm

17.0ABC # 4B 3R £C & #Hefassi® (bisectors) et & 3iex fig O W e ¥ | afe 2BOC

= 122°%, ar A &1 AT FI7 gRN?
A. 62°
B. 64°
C. 72°
D

B C
£BOC = 122°

1
£ZBOC = 90° + Eiﬂ

1
122° —90° = ELA
A =2x32°=64°

18.A, B 3R C &I G&TcI3fl &l 3did 2 : 5 : 38 | Toh AT H1H $al W d ot 38 27 feait & qur
N THd ¢ | B 3R C, A=l Aot 30 1A & 4/99 REQ &1 fhdar faait & qu &wdar?
A. 15 feat &

13"l

B. 7 Rera
C.27 et &

10
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D. 24 feat &

Ans. A

Sol.

Ratio of efficiencies, A:B:C = 2:5:3
(A+B+C):(B+C)=10:8=5:4
M, xD, M,xD,

W, W,
5x27 4xD,

1 4

9

5 5% 27 % 4

2 4x9

55x% - 8143y 2|« (f5x =38y | = (Ax2 +By2+Cxy|

Joa | | |_ y Y| N
(6A+B -.f15C]|
' T AT FAT IEM?
A. 12
B. 15
C. 10
D. 9
Ans. A
Sol.

(5vBx3 — 81y3y3)
(vVBx —3v3y)
(VBx — 3y3y)(5x% + 3V15xy + 27y?)
V5x — 343y
5x2 +3V16xy + 27y% = Ax2 + By? + Cxy

A=5B=27,C=3V15
64+ B —V15C =30 + 27 —45 = 12

= Ax?+ By* + Cxy

= Ax* + By? + Cxy

20.915 UMY v AT wfaerd sarsr @7 W 3 awt # T 8,028 31X 6 gt & 12,042 & Y §, I
TS afSe gafaa § | afer 82

A.% 5,352

B. <% 5,235

C.% 5,253

D. % 5,325

Ans. A

Sol.

12042 =P (1 + ﬁ) ...... (i)
.3

8028 = P (1+ﬁ)

(8028)2 = P* (1 + ﬁ) ...... (ii)

11
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Dividing (ii) by (i), we get
8028 x 8028

12042
= 5352

21 x +y +2=19, x2+ y2 + 22 = 133 3R xz = y&, AT z 3R x & T 3R &:
A.3
B. 4
C.6
D.5

Ans. D
Sol.

(x+y+z)*=x*+y*+z> + 2(xy + yz + zx)
19% = 133 + 2(xy + yz + y?)
2y(x +y+z) =361—-133

2y % 19 = 228

228
Y=738 ~
Now,

x+z=19—y
x+z=19—-6=13
x—z=.,(x+z2)2—4xz

= /132 — 4y?2
=+169 — 4 x 36
=169 — 144
=5

22 .7 &t 3 F TEAr 985x3678y, TWEAT 72 ¥ AT §, aF (4x — 3y) & AT gl :
A. 4

B. 6

C.5

D. 3

Ans. A

Sol.

Since the given number is divisible by 72, it must be divisible by 4, 8 and 9. Since it is
divisible by 4, last two-digit must be divisible by 4. So, possible values of y are 0, 4, 8.
Since it is divisible by 8, last three digits must be divisible by 8. As 780 and 788 are not
divisible by 8, the only possible value of y is 4. Now, since the number is divisible by 9, its
sum of digits will be divisible by 9.

9+8+5+x+3+6+7+8+y

=46+x+y

=46+ x+4

=50+x

For x = 4, 54 is divisible by 9.

4x—3y=4x4—-3x4=4

23.9R a¥ qd A 3R B T 3G T U 4 : 5 AT | 3 & 316 a¥ §1G A 3R B &1 301G HT AT
11 : 13 891 | 3o alt &1 aciellel 3G T FHel 9T &7 872

12
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A. 76 9§
B. 72 a¥
C. 80 ay

D. 96 9§

Ans. C
Sol.
Let the ages of A and B four years ago were 4x and 5x

4x+4+8 11
Ex+4+8 13

5bx — 52x =156 — 132

3x =24

x=28

Sum of the present ages of A and B
=4x+4+5x+4

=9x +8

=72+8

= 80

24 . arfersr 7 AfAeT YR I SR F 39 Hl (TSR H) ST I-AT ¢ |

i/ #1{| 2012|2013 2014 | 2015 | 2016

A 30 |35 |48 |45 |56
42 |48 |40 |38 |56
48 |36 |38 |35 |44
51 |24 |30 |46 |54
20 |42 |40 |35 |43
a¥ 2013 3R 2016 # A YR &I HRI & ol Sculeal HI dolal H a¥ 2012, 2014, 3R 2015 # B

YR & HRI HT Fel 3cdleed omsaT b gfderd 3ifds T 872

A.34.4
B. 33.2
C. 31.9
D. 36.3

m |0 |5 (O

Ans. C
Sol.
Production of B type car in 2012, 2014 and 2015 together

=42+ 40+ 38 = 120 thousand
Production of A type car in 2013 and 2016
=35+ 56 = 91 thousand

120—91
— = b 0
Required % ~ % 100 = 31.86 ~ 31.9%

25.7% g& fordl AfRRaa Ifd & 384 km &1 g a& a<ar ¢ | afg 1fd &t 16 km/h &A fFar Srar
g ar 38 gl A a7 F A °¢ 3RE @ | Ao afa (km/h 7)) F 75% e §?

A. 54

B. 42

C. 45
D. 48

13
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Ans. D

Sol.

Let the truck at speed v km/h takes t hrs and at speed (v-16) km/h it takes (t+2) hrs.
Then,

334(1 1) (v — 16)
t t+2/ "V

334(H2_r) 16
tt+2)/

24X ———==0
t(t+2)

t2+2t—48=0

(t+8)(t—6)=0

t==6
384
Original speed & 64 km/h
75
= 64 X > = 48
75% of original speed 100 km/h

26.5 d#AT 3 8 A Bear & & ga g A 3R B W yfaese Xa g1 e AB = 8 Tt 3R et
gl & Sl & 9 A gl x A 8, o x T A (Hehead quiies deh) Tl g2

A.8

B. 10

C.9

D. 11

Ans. B

Sol.

RN
¥

Here let D and C be the centre of the circle.
And CD be the distance between the centre = x cm
The radius of smaller circle = AC = 5 cm
The radius of larger circle = AD = 8 cm
Also given; AB = 8 cm

So, in Triangle ACP

AC2=AP? + CP?

52 = (AB/2)? + CP?

CP2=25-16=9

Cp=3

Similarly, in Triangle ADP

AD2=AP? + DP?

82 = (AB/2)? + DP?

DP? = 64 -16 = 48

DP = 6.928

So,CD =3+6.928 =10 cm

14
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2797 tan x = cot (65° + 9x) &, @ x & AT AT FL?
A. 2.5°

B. 1.0°

C. 2.0°

D. 1.5°

Ans. A

Sol.

tan x = cot (90° - x)

cot (90° - x) = cot (65° + 9x)
90° - x = 65° + 9x

25° = 10x

2.5° =x

28.7 T3S ABC #, BIe[ef & 3iex <B 3R <C & wwcfasmes fig 0 w e &1 afe <A fear
T g, O U I1T [Jeeut & & i ar T &7
ZBOC =90°+(zA /2)

A

5. Z/BOC =180°-(zA/2)

¢ £BOC=90°-(sA/2)

p, <BOC=-180°-(ZA)
Ans. A

Sol.

A
8 e

By angle sum property of triangle:
2A+ 2B+ 2C=180°

£LB+2C h QOO—Lé
= 2 2
Now in A BOC:
%48 +%4C + ZBOC =180°
Putting the value fromabove egq.
90° - % ZA+ £BOC =180°

— /BOC =180° -90° +%LA

DABOC:90°+%4A

29.Th FFd o 2 IEJU Fddh 2650 39T H TACT| 30 Uh a&] H 10% & a7 W AR q@l
aEG P 5% o o7 I S| 3k @Ry ol fomar or amet gfderd fhcam gem?

15
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A. 8%
B. 8.5%
C. 7.5%
D. 10%
Ans. C
Sol.
C.P. of each articles = Rs. 2650
10% profit on first article=
22 % 2650 = 265

10% of 2650 = 100
S.P. of first article = 2650 + 265 = Rs. 2915

= %2650 = 132.5
5% of 2650 = 100
SP of second article = 2650 + 132.5 = Rs, 2782.5
S.P. of both articles = 2915 + 2782.5 = Rs. 5697.5

5697.5—5300
_ ——Xx 100 =7.5%
Profit percentage = 5300

2p
6= 3 .
30.af% T g drsin farT & ¥ frad Sey g

A P 1

B. P°-1

c. P -1

D, P =1

Ans. A
Sol.
We know
B_ 2

Cos®=H p?+1
Hence

P2 — H2 y 82
=(p* +1)° -(2p)
=(p* -1y
P=p°-1
(p* -1)

31 (x - 7)3 + (X - 8)3 + (X + 6)3= 3(x - 7) (X - 8) (X + 6) &, & x & AT &7 g2
A. 6

B. 8

C. 10

D. 3

Ans. D

Sol.

We know that:

16
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If @ +b° +c =3abc

then (a+b+c)=0

= Here[(x -7)+(x-8)+(x +6)]
=3x-9=0

= x =3
Hence the value of x = 3.

32.10 @Y Ugdl, 9T HEEAT & U GRAN HT 3aa 31g 38 a¥ Al 39, & AU HeHg 30 IRaR #

AAS &1 1T &, TSeTehl 3 &7 AR 8 a¥ Bl I IRaR & ad\= 3Hd 31g 58§ IRar & 10

ay ggel T A 3G & SR &, A BIC HeTg &I Y (Iut A) e g2

A. 15

B. 9

C. 10

D. 17

Ans. B

Sol.

Let the age of five people be X1, X2, X3, X4, X5

Age 10yearsago=x1_10,xZ_10,x3_10,x4_ 10,965—10

Average:

(X, + X, + X3 + X, + Xs —50)
5

= X, +X, +X; + X, + X; =190 + 50 = 240

=38

Now since two more people are added whose age difference is 8 years so if
Age of 15t person be x yrs then age of 2" person = x + 8 yrs

Average:
(Xl+X2+X3+X4+X5+X+X+8)_38
5 -

= X, +X, + X3 + X, + X, =240
_,248+2x _ 44

7
— 248 + 2x = 266
> x=9

Hence the age of younger member of family = 9 years.

33.9c8% 2.5 G ST arel & el & e & e B gl 13 T B1 U ey 3Hafass wadiar
T dETs (FHT ) 7 g

A. 6

B. 12

C.8

D. 10

Ans. B

Sol.

Length of transverse tangent :

17
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\/(dis tance between the centres)® — (r, + r,)?
= (13)* - (2.5+ 2.5)?

=4/12°
=12cm

34.Te STl 30000 ¥9Y 3Hiehd Hed dlell Teh & @l HiFS P 20% 3R 5% & AU T &
I SHA AFAT W 1,200 F9T T AT ¢ AR 34 30000 93 H 99T g, 3HH ars7/gifa gfaerd
T grem?

A. 25% gifex

B. 25% oTsT

C. 20% st

D. 20% gifa

Ans. B

Sol.

Marked price of the article = Rs 30000
Discounts given = 20 % and 5 %

Net discount =

20+5- 2975
100

= 24%

. 2% %« 30000 = Rs 22800
Amount after 24% discount : 30000 - 100

Now, he spends RS 1200 on repairs .
So new amount becomes = 22800 + 1200 = Rs 24000
Selling price of article = Rs 30000

30000 - 24000 100
24000
Profit % = = 2%
Hence, he earned a profit of 25%

18
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